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MATHS

BOOKS - SELINA MATHS (ENGLISH)

LINEAR INEQUATIONS

1. State, true of false :

T< —yYy=> —xT >y

° Watch Video Solution

2. State, true of false :

-5 >1b=>2> —3

° Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_PKfwCpiUBoLm
https://dl.doubtnut.com/l/_sYOsIOrrlzJg

3. State, true of false :

20 < 7:>2m>_7
T = —1~ "1

° Watch Video Solution

4, State, true of false :

7>5:>1<1
7 5

° Watch Video Solution

5. State, whether the following statements are true of false.

Ifa <b,thena—c<b-—oc

° Watch Video Solution



https://dl.doubtnut.com/l/_sYOsIOrrlzJg
https://dl.doubtnut.com/l/_u9pFTiPEhdK4
https://dl.doubtnut.com/l/_XZuapB6wfGdP
https://dl.doubtnut.com/l/_otKFfYyf8wnq

6. State, whether the following statements are true of false.

Ifa >b,thena+c>b-+c

° Watch Video Solution

7. State, whether the following statements are true of false.

Ifa < b,then ac > be

° Watch Video Solution

8. State, whether the following statements are true of false.

Ifa > b,then a < 2
c c

° Watch Video Solution

9. State, whether the following statements are true of false.

a—c>b—d,thena+d>b+c

| e


https://dl.doubtnut.com/l/_IvnpmLCvS0z6
https://dl.doubtnut.com/l/_s31ybaskDHDs
https://dl.doubtnut.com/l/_664ueCouUmSF
https://dl.doubtnut.com/l/_UYxDCkxsydbv

| & Watch Video Solution I

10. State, whether the following statements are true of false.
If a <b, and ¢ > 0, then a — ¢ > b — c where a, b, c and d are real

number and ¢ = 0.

o Watch Video Solution

MN.If z € R, find the solution set of inequations.

5 + 3 < 2z 4 18

o Watch Video Solution

12.If z € R, find the solution set of inequations.

3 —2<19 —4x

o Watch Video Solution



https://dl.doubtnut.com/l/_UYxDCkxsydbv
https://dl.doubtnut.com/l/_mCw234xznMVS
https://dl.doubtnut.com/l/_2Cvg2UptWwD7
https://dl.doubtnut.com/l/_mSgHmlyCiyRU
https://dl.doubtnut.com/l/_1lMMMyU5XWFn

13. If the replacement set is the set of whole numbers, solve :

r+7<11

o Watch Video Solution

14. If the replacement set is the set of whole numbers, solve :

3z —1>8

o Watch Video Solution

15. If the replacement set is the set of whole numbers, solve :

8—x>5

o Watch Video Solution

16. If the replacement set is the set of whole numbers, solve :

1
_ > —
7— 3z > 5

o Watch Video Solution



https://dl.doubtnut.com/l/_1lMMMyU5XWFn
https://dl.doubtnut.com/l/_wX7ZFTSdf9wq
https://dl.doubtnut.com/l/_ZvEA1aLx0ZIM
https://dl.doubtnut.com/l/_4S54CRfymu67

17.1f the replacement set is the set of whole numbers, solve :

m—3<3—x
2 2

o Watch Video Solution

18. If the replacement set is the set of whole numbers, solve :

18<3x-2"

o Watch Video Solution

19. Solve the inequation :

3 —2x >z — 12giventhatz € N.

o Watch Video Solution



https://dl.doubtnut.com/l/_4S54CRfymu67
https://dl.doubtnut.com/l/_kDmOgNJi8U41
https://dl.doubtnut.com/l/_cdrnzudnM0vy
https://dl.doubtnut.com/l/_7tLI3j9QYVtt

20.1f 25 — 4z < 16, find :

the smallest value of x, when x is a real number.

° Watch Video Solution

21.1f 24 — 4z < 16, find :

the smallest value of x, when x is an integer.

° Watch Video Solution

22.If the replacement set is the set of real numbers, solve :

—4z > — 16

° Watch Video Solution

23.If the replacement set is the set of real numbers, solve :

8 —3z <20



https://dl.doubtnut.com/l/_v2xz9saPyDqo
https://dl.doubtnut.com/l/_QBHx4hzx6pXf
https://dl.doubtnut.com/l/_W7ZxoMmzY3MD
https://dl.doubtnut.com/l/_j4SFlgR8Dh3D

| & Watch Video Solution I

24.If the replacement set is the set of real numbers, solve :

X X
5+Z>€—|—9

o Watch Video Solution

25.If the replacement set is the set of real numbers, solve :

r+3 - r—3
8 5

o Watch Video Solution

1 5
26. Find the smallest value of x for which 5 — 22 < 55 — Eac, where is

an integer.

o Watch Video Solution



https://dl.doubtnut.com/l/_j4SFlgR8Dh3D
https://dl.doubtnut.com/l/_lEd4wsRgT35V
https://dl.doubtnut.com/l/_LY3Vj6ZIt1d0
https://dl.doubtnut.com/l/_3nF0aNGmICkD

27.Find the largest value of x for which

2 —1) <9—=z and x € W.

o Watch Video Solution

28. Solve the inequation :

5
12—|—1Em§5—|—3w and =z € R.

o Watch Video Solution

29.Given z € {integers}, find the solution setof: —5 < 2x — 3 < x + 2.

o Watch Video Solution

30. Given = € {whole numbers}, find the solution set of : -

1 <344z < 23.

o Watch Video Solution



https://dl.doubtnut.com/l/_8mqbxuSM8jUO
https://dl.doubtnut.com/l/_DZq6zSyJpR8q
https://dl.doubtnut.com/l/_nKX1oDK4MJ7L
https://dl.doubtnut.com/l/_43aDqfbwELsZ

1. Represent the following inequalities on real number lines :

2 —1<5h

° Watch Video Solution

2. Represent the following inequalities on real number lines :

3x+1> —5

° Watch Video Solution

3. Represent the following inequalities on real number lines :

2(2z — 3) < 6

° Watch Video Solution



https://dl.doubtnut.com/l/_43aDqfbwELsZ
https://dl.doubtnut.com/l/_tr1wzQ1BFvDM
https://dl.doubtnut.com/l/_bdomd48HaznT
https://dl.doubtnut.com/l/_oPRq7MY6BWCx
https://dl.doubtnut.com/l/_m6BLZc4csASA

4. Represent the following inequalities on real number lines :

—4d<x<4

° Watch Video Solution

5. Represent the following inequalities on real number lines :

—2<xz<bH

° Watch Video Solution

6. Represent the following inequalities on real number lines :

8>x> —3

° Watch Video Solution

7. Represent the following inequalities on real number lines :

—h<zer< —1

° Watch Video Solution



https://dl.doubtnut.com/l/_m6BLZc4csASA
https://dl.doubtnut.com/l/_q9UEGWzXmzQ8
https://dl.doubtnut.com/l/_Vtp8HsPP9No4
https://dl.doubtnut.com/l/_Aw6YkXWRnRPz

8. For each graph given alongside, write an inequation taking x as the

variable :

" " *-1- o L
-5 -4 -3-2-1 01 2 3 45

° Watch Video Solution

9. For each graph given alongside, write an inequation taking x as the

variable :

+ e B B I e e s .

5 4 -3-2-1 01 2 3 4 5§

° Watch Video Solution

10. For each graph given alongside, write an inequation taking x as the

variable :


https://dl.doubtnut.com/l/_Aw6YkXWRnRPz
https://dl.doubtnut.com/l/_VtsYlIbmJFea
https://dl.doubtnut.com/l/_ymivwu6wBlmJ
https://dl.doubtnut.com/l/_UmARjJPkYTfq

| A——— W
-5 -4 -3-2 -1 0 1 2 3 4 §

° Watch Video Solution

11. For each graph given alongside, write an inequation taking x as the

variable :

4

— ] — -
-5 4 32 -1 01 2 3 4 5§

o Watch Video Solution

12. For the following inequations, graph the solution set on the real
number line :

—4<3r—1<8

o Watch Video Solution



https://dl.doubtnut.com/l/_UmARjJPkYTfq
https://dl.doubtnut.com/l/_bWev3amjI1oC
https://dl.doubtnut.com/l/_ormOtrCbr2xK

13. For the following inequations, graph the solution set on the real
number line :

r—1<3—a2<5

° Watch Video Solution

14. Represent the solution of each of the following inequalities on the
real number line :

dr —1>z+ 11

° Watch Video Solution

15. Represent the solution of each of the following inequalities on the
real number line :

7T—x <2-—06x

° Watch Video Solution



https://dl.doubtnut.com/l/_1P25FRJaNrqk
https://dl.doubtnut.com/l/_Pvwn3OTDsjzw
https://dl.doubtnut.com/l/_8FfY2hzaYO89
https://dl.doubtnut.com/l/_HB2MrSwisWq0

16. Represent the solution of each of the following inequalities on the
real number line :

r+3<2x+9

° Watch Video Solution

17. Represent the solution of each of the following inequalities on the real
number line :

2—3x>7—-b5x

° Watch Video Solution

18. Represent the solution of each of the following inequalities on the
real number line :

142z >5b5z —11

° Watch Video Solution



https://dl.doubtnut.com/l/_HB2MrSwisWq0
https://dl.doubtnut.com/l/_NZ18Ta6coFJS
https://dl.doubtnut.com/l/_IzQblMQV1SGN

19. Represent the solution of each of the following inequalities on the

real number line :

2r +5
3

>3xr — 3

° Watch Video Solution

20.x € {real numbers} and —1 < 3 — 2z < 7, evaluate x and represent

it on a number line.

° Watch Video Solution

21. List the elements of the solution set of the inequation

—3<x—2<9-—2x,x € N.

° Watch Video Solution



https://dl.doubtnut.com/l/_8zYFbPiQgc5E
https://dl.doubtnut.com/l/_bfsSpHDeiw9n
https://dl.doubtnut.com/l/_ShOh4oKABz8D

22.Find the range of values of x which satisfies

22< +1<31 €ER
g =TT 3oy tE

Graph these values of x on the number line.

° Watch Video Solution

23. Find the values of x, which satisfy the inequation:

gl _ 2 % N
R R

Graph the solution on the number line.

° Watch Video Solution

24. Given z € {real numbers}, find the range of x for which

—5 < 2z — 3 < x 4 2 and represent it on a real number line.

° Watch Video Solution



https://dl.doubtnut.com/l/_lSemIUFQtkvQ
https://dl.doubtnut.com/l/_vd2xHxTFIyi5
https://dl.doubtnut.com/l/_JgPwRqeYND38

25.1f 5z — 3 < 5+ 3x < 4x + 2,express it as a < x < b and then state

the values of a and b.

° Watch Video Solution

26. Solve the following inequation and graph the solution set on the
number line :

2r —3<x+2<3x+5 €< R.

° Watch Video Solution

27.Solve and graph the solution set of :

2r —9 < 7and 3z +9<25,x€e R

° Watch Video Solution



https://dl.doubtnut.com/l/_A821KjOTpg7m
https://dl.doubtnut.com/l/_r3rw62HPLEYR
https://dl.doubtnut.com/l/_6fts3SHIG4Xk

28. Solve and graph the solution set of :

2r —9 < 7and 3z +9 <25,z € I.

o Watch Video Solution

29. Solve and graph the solution set of :

x+5>4(xr—1) and 3— 2z < — 7,z € R.

o Watch Video Solution

30. Solve :

3t —2<19o0or 3—2x > —T7,x € R.

o Watch Video Solution

31. Solve and graph the solution set of :

5>p—1>2o0r2p—1<17,p € R.



https://dl.doubtnut.com/l/_hkavyBee5Raa
https://dl.doubtnut.com/l/_JLuxNY9QZEVC
https://dl.doubtnut.com/l/_FHNwbdu41JKM
https://dl.doubtnut.com/l/_w3aqYik3KQtr

| &J Watch Video Solution

32.The diagram represents two inequation A and B on real number lines:

Write down A and B in set builder notation.

° Watch Video Solution

33. The diagram represents two inequation A and B on real number lines:

A = ¢ SLNNTNININN,._,

-5 -4 -3-2 -1 01 2 3 4 5§

B = c-ﬂ—mw_.__a.

-5 4 -3 -2 1 1 2 3 4 5

Represent AN B and A N B' on two different number lines.

° Watch Video Solution



https://dl.doubtnut.com/l/_w3aqYik3KQtr
https://dl.doubtnut.com/l/_ZmYPj4dczs4a
https://dl.doubtnut.com/l/_AmxJLTMXkijx

34. Use real number line to find the range of values of x for which :

z>3and 0 < z < 6.

° Watch Video Solution

35. Use real number line to find the range of values of x for which :

r<0and —3 <z <1

° Watch Video Solution

36. Use real number line to find the range of values of x for which :

—1l<z<6and —2<z <3

° Watch Video Solution

37. lllustrate the set {: —3 <z <0or z >2,2 € R} on a real

number line.

| e |


https://dl.doubtnut.com/l/_CpDVQsvLQgUK
https://dl.doubtnut.com/l/_g2DDFCzsWrvV
https://dl.doubtnut.com/l/_OuS4pWchBFJZ
https://dl.doubtnut.com/l/_OPOx2FZHRIgl

I & Watch Video Solution

38.
A={z: —1<z<5,z€ R} and B={z

Represent on different number line :

Given

: —4 <z <3,z € R}.

° Watch Video Solution

39.
A={z: —1<z <5,z € R} and B={z

Represent on different number line :

Given

: —4 <z <3,z € R}.

° Watch Video Solution

40.
A={z: —1<z <5,z € R} and B={z
Represent on different number line :

A-B

Given

: —4 <z <3,z € R}.


https://dl.doubtnut.com/l/_OPOx2FZHRIgl
https://dl.doubtnut.com/l/_maCj0h3qgtZN
https://dl.doubtnut.com/l/_FH8UH8tgJbbP
https://dl.doubtnut.com/l/_hAZe3v9RQEcZ

° Watch Video Solution

41.P is the solution set of 7x — 2 > 4z + 1 and Q is the solution set of
9z — 45 > 5(x — 5),where z € R.Represent :

PN@Q

° Watch Video Solution

42.P is the solution set of Tx — 2 > 4x 4+ 1 and (@ is the solution set of

9z — 45 > 5(x — 5),where z € R.Represent :

P-Q

° Watch Video Solution

43.P is the solution set of Tx — 2 > 4x 4+ 1 and (@ is the solution set of
9z — 45 > 5(x — 5),where z € R.Represent :

P N Q' on different number lines.

. l


https://dl.doubtnut.com/l/_hAZe3v9RQEcZ
https://dl.doubtnut.com/l/_cCkq6JtUFWdp
https://dl.doubtnut.com/l/_3x33Ql0YrxOJ
https://dl.doubtnut.com/l/_6VTRocYsgK12

| ¥ vvatch video sSolution J

44, If
P={x:7Te —4>5zx+2,z€ R} and Q ={z:2 —19>1—3z,z € R}

, find the range of set P N Q) and represent it on a number line.

° Watch Video Solution

45. Find the range of values of x, which satisfy :

1<a:+12<51
3~ 2 3 6

Graph, in each of the following cases, the values of x on the different real

number lines :

zreW

° Watch Video Solution

46. Find the range of values of x, which satisfy :

1<a:+12<51
3~ 2 3 6


https://dl.doubtnut.com/l/_6VTRocYsgK12
https://dl.doubtnut.com/l/_TXF4ZyzqI0sj
https://dl.doubtnut.com/l/_vlFm2DvvCs4N
https://dl.doubtnut.com/l/_9M4UfL0Dj6jV

Graph, in each of the following cases, the values of x on the different real
number lines :

A=A

o Watch Video Solution

47.Find the range of values of x, which satisfy :

1<x+12<51
3~ 2 3 6

Graph, in each of the following cases, the values of x on the different real

number lines :

Tz € R.

o Watch Video Solution

48.Give: A ={z: —8 < bz +2< 17,z € I}
B={z: —2<7+3z <17,z € R}
Where R = {real numbers} and | ={integers}. Represent A and B on two

different number lines. Write down the elements of A N B.

e l


https://dl.doubtnut.com/l/_9M4UfL0Dj6jV
https://dl.doubtnut.com/l/_UtNCWRUtFUuW
https://dl.doubtnut.com/l/_7fEO253QgQOU

| ¥ Vvvatch video sSolution J

49. Solve the following inequality and represent the solution set on the
real number line 2z — 5 < bx +4 < 11, wherex € I, | is a set of

integers.

° Watch Video Solution

50. Given that z € I, solve the inequation and graph the solution on the

number line :

r—4
+

x
> — > 2.
32 2 3 —

° Watch Video Solution

51. Given :

A={z:1lz —5>T7z+ 3,z € R} and B={z:182 — 9> 12z.,z € R

° Watch Video Solution



https://dl.doubtnut.com/l/_7fEO253QgQOU
https://dl.doubtnut.com/l/_VdGU1eJartco
https://dl.doubtnut.com/l/_Ztp8Jae2YIlR
https://dl.doubtnut.com/l/_dD2xC9W3d4LA

52. Find the set of values of

5
7x+323w—5and%—5§Z—x,wherex€N.

X,

satisfying

° Watch Video Solution

53.Solve :

% +5 < + 6, where x is a positive odd inteter

x
3

° Watch Video Solution

54. Solve

22 + 3 N 3z —1
3 - 4

, Where x is a positive even integer

° Watch Video Solution



https://dl.doubtnut.com/l/_dD2xC9W3d4LA
https://dl.doubtnut.com/l/_UZjDK7t4tTbW
https://dl.doubtnut.com/l/_cY28aDdWypMT
https://dl.doubtnut.com/l/_fjTaxMo0KkeX

55. Solve the inequation :

1 4z 4
—2— 4+ 22 < — < —+2 .
2—l— x_5_3+ z,r €W

Graph the solution set on the number line.

° Watch Video Solution

56. Find the consecutive largest positive integers such that the sum of
one-third of first, one-fourth of second and one-fifth of third is at most

20.

° Watch Video Solution

57.Solve the given inequation and graph the solution on the number line.

2y—3<y+1<4y+7y€R.

° Watch Video Solution



https://dl.doubtnut.com/l/_YcSIbtAoXgGt
https://dl.doubtnut.com/l/_sGsxYsZ1VczQ
https://dl.doubtnut.com/l/_xISIZbGcPTTf

58. Solve the inequation :

32—5<2+3<5z2—9,z€ R.

° Watch Video Solution

59. Solve the following inequation and represent the solution set on the

number line.
5 < 1 2z < 5 cR
2 3 gt

° Watch Video Solution

60. Solve the following inequation and represent the solution set on the

number line :

3z -2
4$—19<?—2§?+$, c R

° Watch Video Solution



https://dl.doubtnut.com/l/_g6x0aof1r63h
https://dl.doubtnut.com/l/_eIuVyiWw0FJb
https://dl.doubtnut.com/l/_ncfffpVh6MKj

61. Solve the following inequation, write the solution set and represent it
on the number line :

<$ 11<1 c R
R I R

° Watch Video Solution

62. Find the wvalues of x, which satisfy the inequation

5 1 2z
_26 < 373 < 2,z € W. Graph the solution set on the number

line.

° Watch Video Solution

63. Solve the following inequation and write the solution set :
Bz —-5<br+4<Tr+12,x € R

Represent the solution on a real number line.

° Watch Video Solution



https://dl.doubtnut.com/l/_u9oB9cPMaa9p
https://dl.doubtnut.com/l/_B7UNRIArufye
https://dl.doubtnut.com/l/_PfAFCcj3Py1a
https://dl.doubtnut.com/l/_uwH5MrTXTVIv

64. Solve the following inequation, write the solution set and represent it

on the number line.

T+ 1

—3(x—17) >15—Tx > 3

,x € R.

° Watch Video Solution

65. Solve the following inequation and represent the solution set on a

number line.

st o 1 4ot I
2 g ~HsST5HTE

° Watch Video Solution

1. If the replacement set is the of natural numbers (N), find the solution

set of :

3x+4 < 16

° Watch Video Solution



https://dl.doubtnut.com/l/_uwH5MrTXTVIv
https://dl.doubtnut.com/l/_WscxKF2EPCiH
https://dl.doubtnut.com/l/_iYEIHSbO5xko

2. If the replacement set is the of natural numbers (N), find the solution
set of :

88—z <4z — 2.

° Watch Video Solution

3. If the replacement set is the of whole numbers (W), find the solution
set of :

S5r +4 <24

° Watch Video Solution

4. If the replacement set is the of whole numbers (W), find the solution
set of :

dr — 2 < 2z + 10.

° Watch Video Solution



https://dl.doubtnut.com/l/_iYEIHSbO5xko
https://dl.doubtnut.com/l/_0bm9oQBupGPB
https://dl.doubtnut.com/l/_BEOKAB6yh7uX
https://dl.doubtnut.com/l/_lrw8S5VB9kpY

5.If the replacement set is the set of integers, (I or Z), between - 6 and 8,
find the solution set of :

6r—1>9+=zx

° Watch Video Solution

6. If the replacement set is the set of integers, (I or Z), between - 6 and 8,
find the solution set of :

15 -3z > x — 3.

° Watch Video Solution

7.1f the replacement set is the real numbers (R ), find the solution set of :

-3z <11

° Watch Video Solution



https://dl.doubtnut.com/l/_oWfMCSUv5Hmp
https://dl.doubtnut.com/l/_Ku25yfOeSuQB
https://dl.doubtnut.com/l/_X7Jf4ej4jMew

8. If the replacement set is the real numbers (R ), find the solution set of :

8 + 3z > 28 — 2.

o Watch Video Solution

9.Solve : % —5< % — 4 ,where is a positive and integer.

o Watch Video Solution

10. Solve the following inequation: 2y — 3 < y + 1 < 4y + 7,if:

y € (Integers)

o Watch Video Solution

11. Solve the following inequation: 2y — 3 < y+ 1 < 4y + 7,if:

Yy € R (real numbers)

o Watch Video Solution



https://dl.doubtnut.com/l/_XuxaCEQfiiTo
https://dl.doubtnut.com/l/_NpWoyMHbuQxV
https://dl.doubtnut.com/l/_XpWuPAy6xbkj
https://dl.doubtnut.com/l/_NNLDZU7ILusK

12. Given that z € R, solve the following inequality and graph the

solution on the numberthe: —1 < 3 4 4x < 23

° Watch Video Solution

B.simplify:-~ <2 12 < Lizcr
. Simplify : 3573 3 6.3: .

Graph the values of x on the real number line.

° Watch Video Solution

14. List the solution set of 50 - 3 (2x - 5) < 25, given that x € W. Also,

represent the solution set obtained on a number line.

° Watch Video Solution



https://dl.doubtnut.com/l/_NNLDZU7ILusK
https://dl.doubtnut.com/l/_2XUxQvPP4Gv7
https://dl.doubtnut.com/l/_TfzM7FuxwlJW
https://dl.doubtnut.com/l/_3CKvBOIzC4Mi

15. Solve and graph the solution set of 3x + 6 > 9 and — bz > — 15,

where z € R.

° Watch Video Solution

16. Solve and graph the solution set of —2 < 2z — 6 or — 2x + 5 > 13.

Where z € R.

° Watch Video Solution

17.Given: P={z:5 < 2z — 1< 11,z € R}
Q={z:1<3+4x<23,z€l}

where R = (real numbers) and | = (integers).

Represent P and Q on two different number lines. Write down the

elements of P N Q.

° Watch Video Solution



https://dl.doubtnut.com/l/_9BDzwIqssewO
https://dl.doubtnut.com/l/_EkLJTZnKHbXd
https://dl.doubtnut.com/l/_9WduOKUAWePH
https://dl.doubtnut.com/l/_7GwyITQB7Ybp

18. Write down the range of values of z(z € R) for which both the
inequationsx > 2 and — 1 < x < 4 are true.

For any two solution sets Aand B :

A and B = Intersection of sets A and B

= Set of elements common to set A and to set B

=ANB

o Watch Video Solution

19. Write down the range of values of z(z € R) for which both the
inequations x > 2 and — 1 < x < 4 are true.

For any two solution sets Aand B :

A and B = Intersection of sets A and B

= Set of elements common to set A and to set B

=ANB

o Watch Video Solution



https://dl.doubtnut.com/l/_7GwyITQB7Ybp
https://dl.doubtnut.com/l/_BVYMByHfmnXY

20.The diagram, given below, represents two inequations P and Q on real

number lines :

P:"T"lrllll]"‘rllb
-3 =2-10 1 2 3 45 66 7 8B 8
Q:"T|rrr#r1| rt"_l_.'
-3 -2 10 1 2 3 45 6 7 8 8

Write down P and Q in set builder notation.

o Watch Video Solution

21. The diagram, given below, represents two inequations P and Q on real

number lines :

P:‘_T__’lFrTrlT"'rllp
-3-2-10 1 2 3 45 6 7 8 9
Q=‘||:rr-1:||1r$_ﬂ_‘.'
-3 -2-10 1 2 3 45 66 7 8 9

Represent each of the following sets on different number lines :
(@PuUQ
(b) PNQ
()P-Q

(d)Q-p


https://dl.doubtnut.com/l/_PCUnhEw4rwry
https://dl.doubtnut.com/l/_9BnC75bauVwj

e)PNQ

HPNQ

° Watch Video Solution

22. Find three smallest consecutive whole numbers such that the
difference between one - fourth of the largest and one-fifth of the

smallest is at least 3.

° Watch Video Solution

Multiple Choice Questions

1.In which of the following cases, the sign of inequality does not reverse

in a linear inequation?

A. On adding a negative term to both sides

B. On multiplying a negative term both sides


https://dl.doubtnut.com/l/_9BnC75bauVwj
https://dl.doubtnut.com/l/_kobwa0FVqnRT
https://dl.doubtnut.com/l/_1fCBQEJFgij7

C.On dividing a negative term both sides

D. On changing the sign of each term on both sides

Answer: A

° View Text Solution

2. If the replacement set is the set of natural numbers, then the solution

of x < 3is:

A.{0,1,2}

B.{1,2,3}

C.{1,2}

D.{0,1, 2,3}

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_1fCBQEJFgij7
https://dl.doubtnut.com/l/_jWmbmwWe1mP3
https://dl.doubtnut.com/l/_OqiK6ePrkQY6

3. If the replacement set is the set of whole numbers, then the solution

setof 12 — 2 < 3x — 2is

A.{0,1, 2}

B. {1,2,3}

C.{1,2}

D.{0, 1, 2,3}

Answer: D

o View Text Solution

4.1f the replacement set is the set of integers between —10 and 10, then

the solution of —2 < ~ — 2% 15,
e solution or — <2_ 3 < 6|S.

A{-1,0,1,2}
B.{—-2 -1,0,1,2,3}

c.{-1,01,2 3}


https://dl.doubtnut.com/l/_OqiK6ePrkQY6
https://dl.doubtnut.com/l/_XK3peu4wWEau

D.{—-2 —1,0,1,2}

Answer: C

° View Text Solution

5.If the replacement set is the set of real numbers, then the solution set
of 8 —3x > 28 + 2z is

A. All real numbers less than ( — 4)

B. All real numbers less than or equal to ( — 4)

C. All real numbers greater than ( — 4)

D. All real numbers greater than or equal to ( — 4)

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_XK3peu4wWEau
https://dl.doubtnut.com/l/_cN8IGOTzD5dA

6. If 2¢ — 5 < bx +4 <11 and x is a natural number (N), then the
solution set of x is

A {1}

B.{—-3, —2, —1,0,1}

c¢{-2, —-1,0,1}

D.{—2, — 1,0}

Answer: A

o View Text Solution

T x . .
7.If 5~ 5 < 3~ 4 and x is a natural even number, then the solution

set of x is
A{—-6, —4, —2}
B.{6, —4, —2,2,4,6}

c.{2,4,6)


https://dl.doubtnut.com/l/_60vzeVQJwUSS
https://dl.doubtnut.com/l/_WQOZL9LAER6K

D.{2,4,6, 8}

Answer: C

° View Text Solution

8.1f 2x — 5 < 5z + 4 < 29 and x is an integer, then the solution set of x
is

A{-2 -1,0,1,2 34,5}

B.{—2, —1,0,1,2,3,4}

c¢{-3, -2 -1,0,1,2,3,4,5}

D.{—3, —2, —1,0,1,2, 3,4}

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_WQOZL9LAER6K
https://dl.doubtnut.com/l/_5wHmJyBejErt

9.f -1 < 3+ 4z < 23,z € R (real numbers), then the solution set of x

is

A-1<z<bzecR

B.—1l1<z<b5zxz€eR

C—-1<z<5,zeR

D.-1l<z<bhzeR

Answer: B

o View Text Solution

10.If 22 —3 <z +1<4x + 7, € I (integers), then the solution set
of xis

A{-2 —-1,0,1,2 3, 4}

B.{—1,0,1,2,3}

c{-2 -1,01,23}


https://dl.doubtnut.com/l/_UMeNTWALBblM
https://dl.doubtnut.com/l/_f6MrMKL4eyPM

D.{-1,0,1,2 3,4}

Answer: A

° View Text Solution

1. If
M={z:11x —5>Tr+ 3,z € R} and N = {z:18z — 9 < 15+ 12z,
, then the common solution of M and N i.e,,range of set M N N is

Az <2 xcR

B.x <4,z € R

C4<zx< —2,z€R

D.2<z <4,z €R

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_f6MrMKL4eyPM
https://dl.doubtnut.com/l/_i0oUuWc6679e
https://dl.doubtnut.com/l/_CKLCZBtAmlAG

12. If 2 < 2x — 3 < b,z € I, then the solution set of x on the number

line is:
—0 el
A 20 1 2 3 4
—0 @
B. =520 1 2 3 4
—0 e
C -3 -2-1 0 1 2 3 4
o w
D. -3 -2-1 0 1 2 3 4
Answer: B

o View Text Solution

1B.If2x —3 <z +1<4x 4 7,2 € R then the solution set of x on the

number line is:

A 32 4 0 1 2 3 4 5
.

B, " =2-1 90 i 2 3 & 5

C-a-z—1o12345


https://dl.doubtnut.com/l/_CKLCZBtAmlAG
https://dl.doubtnut.com/l/_PoOGgj0giOag

—0 ©
D = -2 -1 0 1 2 3 4 5

Answer: C

° View Text Solution

z x
Z_5< 2

5 3 4,z € R, then the solution set of x on the number

14. If

line is:

A, 4 56 7 8 910

>

B. 4 5 6 7 8 9 10

C_4567891o

D.45678910

Answer: A

° View Text Solution



https://dl.doubtnut.com/l/_PoOGgj0giOag
https://dl.doubtnut.com/l/_9vVTmUXl5D5G

15.If =5 <2x —3 <z + 2,z € R, then the solution set of x on the

number line is

A. 210 1 2 3 4 5 6
o ®
B. 270 1 23 45 6
- w
C_ 2 -1 0 1 2 3 4 5 6
o o
D. 2106 1 2 3 4 5 6
Answer: D

o View Text Solution

—00 0

"

3 5 1 0 1 2 3 4 5

16. If
represents the solution set of a linear inequation in x, then the solution

set in set-builder form is:

A{z:2—- <z <3,zel}


https://dl.doubtnut.com/l/_Vejeapee9ykH
https://dl.doubtnut.com/l/_dukmf6rPXzsv

B.{z: —2<z<3,zec W}
Clz: —2<zxz<3,zeW}

D{z: —2<z<3,zcl}

Answer: D

o View Text Solution

-0

oo
32 1 0 >

2 3 4

-—

17. If
represents the solution set of a linear inequation in x, then the solution
set in set-builder form is:

A{zr:z <2,z € R}

B.{z:z <2,z € R}

Cl{z: —0<z<2zcR}

D.{r: —oc0o <z <2,z € R}


https://dl.doubtnut.com/l/_dukmf6rPXzsv
https://dl.doubtnut.com/l/_L0dNLvJF4uN3

Answer: A

° View Text Solution

-0 [0 0]

Y

m R R
18. If is the

Ne

solution set of a linear in equation in x, then the solution set of x in set-
builder form is:

A{z: —4<z<2z€R}

B.{x: —5 <z <3,z € R}

C{z: —4<zxz<2,z€ N}

D.{z: —b<z<3,z¢€l}

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_L0dNLvJF4uN3
https://dl.doubtnut.com/l/_ObOB0aHPu7ER

Jké
8

4 + 4 + + > > + —P
19. If 43 -2-101 2 3 4 is the

solution set of a linear inequation in x, then the solution set of x in set-
builder form is:

A{r:z <4,z € W}

B.{z:z < 4,z € W}

C{z:z <4,z € N}

D.{z:z <4,z € N}

Answer: B

o View Text Solution

—o0 oD
-« r

20. I —=2—:1(:)121¢3215

.

E 3

represents solution set of a linear inequation in y, then which of the

following cannot be a solution set of y?


https://dl.doubtnut.com/l/_AlNHlCk7JVqm
https://dl.doubtnut.com/l/_xQWwuu4eqZQ2

A{y:0<y<4,ycl}
B.{y:0<y<4,yec W}
C{y:0<y<4,ye N}

D. None of these

Answer: C

o View Text Solution

> . 3
SR

21. If
represents solution of a linear inequation in x on a number line, then the
solution set in set-builder form is:

A{z:xz > 1,z € R}

B.{x:z > 1,z € R}

Clz:z > 1,z € W}


https://dl.doubtnut.com/l/_xQWwuu4eqZQ2
https://dl.doubtnut.com/l/_BdGBUM96rEEV

D.{z:z > 1,z € W}

Answer: B

o View Text Solution

1 2 3 4 5 6 7

—C0 o0
-
22. If
represents solution of a linear inequation in x on a number line, then
which of the following is correct, regarding the solution set ?
A2<z <6,z e N
B2<z <6,z e N
c.2<zx<6,zceR

D.2<x <6,z e R

Answer: D

° View Text Solution



https://dl.doubtnut.com/l/_BdGBUM96rEEV
https://dl.doubtnut.com/l/_rf5ce4Tv3Dte

—0 oQ

T 0 1 2 3 4

23. If

represents solution set of a linear inequation in x on a number lline, then

this solution can be written as:

A—co<z<lizeW

B—oo<z<l,zeR

C—-xx<z<lzxzeR

D <z<l,zeW

Answer: B

o View Text Solution

o0
— >

—00

34 1

2 3

ot
R

24, If

represents solution set of a linear inequation in x, then the replacement


https://dl.doubtnut.com/l/_UxhcXtOr5yzD
https://dl.doubtnut.com/l/_wMDdRm8k8RrU

set of x must be:

AW

B.N

C.R

D. |

Answer: D

o View Text Solution

00 cD
g § —p & :-

1 0 2 3 4

—

25. If
represents solution set of a linear inequation in x, then the replacement
set of x must be:

A W or |

B.lor N


https://dl.doubtnut.com/l/_wMDdRm8k8RrU
https://dl.doubtnut.com/l/_MTqgS1IIFZdZ

C.NorWwW

D.lorNorW

Answer: A

° View Text Solution

26. The solution set of
{_5)_41
A{r: —5<z<2zecN}
B.{z: —5<z<2,zecW}
Clz: —5<z<2,zel}

D.{z: —5<z2 <2z € R}

Answer: C

X

in

a

linear

inequation

is

-3, —2, —1,0,1,2, }.In set-builder form, it is written as:

° View Text Solution



https://dl.doubtnut.com/l/_MTqgS1IIFZdZ
https://dl.doubtnut.com/l/_ebAfnMzSc5oj
https://dl.doubtnut.com/l/_vWvHhX2wQVgD

27. If the solution set of a linear inequation in
{z: — 3 <z < 3,z € I}, then its roster formis:

A{-2 -1,0,1,2}

B.{—3, —2, —1,0,1,2,3}

c{-3 -2 —-1,0,1,2}

D.{—2, —1,0,1,2, 3}

Answer: A

o View Text Solution

28.1f 25 — 4x < 16, x € N, then the smallest value of x is:

A 9
4
B.2
C.3

D. None of these


https://dl.doubtnut.com/l/_vWvHhX2wQVgD
https://dl.doubtnut.com/l/_VZixs4Oc5ScO

Answer: C

° View Text Solution

5% 5 4z — 1
29. IfT — 3

> 1, x € I then the largest value of x is:

A —8

D. None of these

Answer: B

° View Text Solution

1 2
30.If —2 < 3 ?m, x € R,then the largest value of x is:

A3


https://dl.doubtnut.com/l/_VZixs4Oc5ScO
https://dl.doubtnut.com/l/_ZAtRQRuW15vS
https://dl.doubtnut.com/l/_4ILkiuXvn5Zn

D. None of these

Answer: C

° View Text Solution

31. The solutionsetof —1 < 3+ 4x < 23,z € Wiis

A.{0, 1,2, 3,4}
B.{—1,0,1,2,3,4}
C.{0,1,2,3,4,5}

D.{-1,0,1,2, 34,5}

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_4ILkiuXvn5Zn
https://dl.doubtnut.com/l/_jwhHNAGcC9Ab
https://dl.doubtnut.com/l/_HM0BULB3ilje

1

2 1
32.The solution set of—2§ <x+ 3 < 35, x € Ris

A{r: —3<z<3,z€R}
B.{z: —3 <z <3,z € R}
C{z: —3<z<3,z¢cR}

D.{z: —3 <z <3,z € R}

Answer: D

o View Text Solution

8z 14
33.The solutionsetof —3 + = < =3 +2< KR +2x,x € Ris

A-3<zx<4
B.—-3<z<4
C-3<z<14

D.-3<x <4


https://dl.doubtnut.com/l/_HM0BULB3ilje
https://dl.doubtnut.com/l/_ErqQw2i9lFjo

Answer: C

° View Text Solution

34. The set of values of X,
T 5 )
T +3 > 3x — 5 and Z—5§Z—x,m€le

A{-2 -10,1,2 3, 4,5}
B.{1,2,3,4,5}
C.{0,1,2,3,4,5}

D. None of these

Answer: B

satisfying

both

° View Text Solution

3
35. The solution set of i +2<z+4< z + 5,z € R on the number

) 2

line is:


https://dl.doubtnut.com/l/_ErqQw2i9lFjo
https://dl.doubtnut.com/l/_P0i04CHtrQx9
https://dl.doubtnut.com/l/_ySm9sNrx6Aha

A‘ -7 6 5 4 -3 -2 -1 [ 1 2
- v
B. 7 6 5 4 3 2 -1 0 1 2
- W
C -7 6 -5 4 -3 -2 -1 [ 1 2
.
. -
D 7 6 -5 4 3 -2 -1 0 1 2
Answer: D

o View Text Solution

36. The solution set of 1lx —4 < 152z +4 < 13z + 14, € I, on the

number line is

A T=2-0 1 2 3 4 5 6

B»—2—10123456

C—2~10123456

D. 2-10 1 23456

Answer: A



https://dl.doubtnut.com/l/_ySm9sNrx6Aha
https://dl.doubtnut.com/l/_gd6RZoLgz7Hu

| ° View Text Solution

37.The solution setof —2 + 10z < 13z + 10 < 24 + 10z, x € Zis

A{—4, -3 -2 -101,23,4,5
B.{—4, —3, —2 —1,01,2,3,4}
c{-3 -2 -1,01,2 3, 4}

D.{-3, —2 —1,0,1,23,4,5}

Answer: B

° View Text Solution

1 1 1
38. The solution set of —85 < - 3~ dr < 75,513 € W on the

number line is:

8
8

A 510 1 2



https://dl.doubtnut.com/l/_gd6RZoLgz7Hu
https://dl.doubtnut.com/l/_TkuA3Ri5mp4Q
https://dl.doubtnut.com/l/_AVQPg0wRjpHl

Answer: C

° View Text Solution

39. Which of the following linear inequation has a solution set
{-1,0,1,2,3}?
2 1
A.§+§(a?+1) >0,z el
B.2(x —2) <3z —-—2< 10,z €1
Chx+T7>27T,z el

D.3z +12 < 0,z € I

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_AVQPg0wRjpHl
https://dl.doubtnut.com/l/_FLp06bj2vcrV
https://dl.doubtnut.com/l/_GHLNREVnTrHO

2r +1 3z —2

40 The solution set of 3 < 5 x € R on the number line is
A. *"’_14 =3 Sz o i >
B. '°°_14 i3 -1z -11_—10 5
C. R 7 o R [ e T 5
D. R T e e 5
Answer: B

© view Text Solution

41.The solutionsetof —1 <3 —-2x < 9,z € [is

A.{—2,—,1,0,1}
B-{_37_2,_1,0,1,2}
C-{_27_1,0,1,2}

D-{_37 _27 _1,0,1}


https://dl.doubtnut.com/l/_GHLNREVnTrHO
https://dl.doubtnut.com/l/_tJnOVBsE23NG

Answer: A

° View Text Solution

42.Thesetof 3z + 24 > 8x — 6, € Ris.....

A{r: —co <z <2 z€R}
B.{r: —o0 <z <2,z € R}
C{r: —c0o <z <2z € R}

D.{z: —o0 <z <2,z € R}

Answer: D

° View Text Solution

43.1f {z:4 < x < oo} is a solution set of a linear inequation in x, then

the replacement set of x must be.....


https://dl.doubtnut.com/l/_tJnOVBsE23NG
https://dl.doubtnut.com/l/_31LE5KZcKPi0
https://dl.doubtnut.com/l/_bsL9Qxff62EU

AN

B.Z

Cw

D.R

Answer: D

o View Text Solution

44.0n multiplying { — 5} on both sides of a linear inequation, the linear
inequation become ......

A—2x+7> —4x+9

B.2r — 7> 4x — 9

C—2x+7<4x —9

D.2x —7<4x — 9

Answer: B



https://dl.doubtnut.com/l/_bsL9Qxff62EU
https://dl.doubtnut.com/l/_sjuXJ6jIjMb1

| ° View Text Solution

45. To solve the linear inequation 5z + 7 < 27,z € I, we add ( — 7) to
both sides, with this operation, the sign of inequality......

A.reverses

B. remain same

C. data insufficient

D. None of these

Answer: B

° View Text Solution

46.1f z > y =

A. negative

B. positive


https://dl.doubtnut.com/l/_sjuXJ6jIjMb1
https://dl.doubtnut.com/l/_BRs3tCvQTZbo
https://dl.doubtnut.com/l/_BrMCVGqBxNYZ

C.zero

D. None of these

Answer: A

o View Text Solution

47.1f x > yand we take their reciprocals, then —
x

Answer: B

° View Text Solution

Assertion And Reason Based Questions



https://dl.doubtnut.com/l/_BrMCVGqBxNYZ
https://dl.doubtnut.com/l/_HGrJPT5ZdhL6

1. Assertion :If the solution set of 5x + 4 < 24 is {1,2,3,4}, then the

replacement set of x is N.

Reason: In number system, the symbol N denotes the set of natural

numbersie,1,2,3,4,5,6...

A.Both assertion and reason are correct and reason is the correct

explanation of assertion

B. Both assertion and reason are correct but reason is not the correct

explanation of assertion

C. Assertion is correct but reason is incorrect

D. Assertion is incorrect but reason is correct

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_zfavYaQXxcxK

2. Assertion: The solution set of 4z — 2 < 2z + 10, x € W is {0,1,2,3,4,5}

Reason: In number system, the symbol W denotes the set of whole

numbers i.e., 01,234...

A.Both assertion and reason are correct and reason is the correct

explanation of assertion

B. Both assertion and reason are correct but reason is not the correct

explanation of assertion

C. Assertion is correct but reason is incorrect

D. Assertion is incorrect but reason is correct

Answer: D

o View Text Solution

3. Assertion: The common solution set of

3r +6>9 and —bx > — 15, € R on the number lineis


https://dl.doubtnut.com/l/_zqMmbkeSRYtF
https://dl.doubtnut.com/l/_RwAzv5oI9mC1

L & : b

0 1 2 3 4
Reason: On the number line, the hollow circle marks the end of a range
involving an equality as well ie, < or > and the darkened circle
marks the end of a range with a strict inequalityie, < or >.
A.Both assertion and reason are correct and reason is the correct
explanation of assertion
B. Both assertion and reason are correct but reason is not the correct
explanation of assertion
C. Assertion is correct but reason is incorrect

D. Assertion is incorrect but reason is correct

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_RwAzv5oI9mC1

4. Assertion: The solution set of —1 <3+ 4z <23,z € R on the

number line is
- o0

51 1 2 3 4 8

Reason: In the solution set, the number -1 is not included and the number

5is included.

A.Both assertion and reason are correct and reason is the correct

explanation of assertion

B. Both assertion and reason are correct but reason is not the correct

explanation of assertion

C. Assertion is correct but reason is incorrect

D. Assertion is incorrect but reason is correct

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_vlaQhxWU7i7f

5. Assertion: The solution set of 22 —3 <z +1 <4z + 7,z € N is {1,
2,3/4}.
Reason: If the solution of a linear inequation is * > 2, z € R then on the

number line, it is represented as

A. Both assertion and reason are correct and reason is the correct

explanation of assertion

B. Both assertion and reason are correct but reason is not the correct

explanation of assertion

C. Assertion is correct but reason is incorrect

D. Assertion is incorrect but reason is correct

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_7JdXHhgVFCSX

Competency Based Questions

1. Two real numbers or two algebraic expressions related by the symbols

>, <, < or > form an inequation. If the highest power of the
variables used in the inequation is 1, then the inequation is called linear
inequation. For the linear inequation 3z — 5 < 8, answer teh following
questions.

If z € I, then the highest value of x is

A3

B.4

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_jXvFI0BdQRPc

2.Two real numbers or two algebraic expressions related by the symbols
>, <, < or > form an inequation. If the highest power of the
variables used in the inequation is 1, then the inequation is called linear
inequation. For the linear inequation 3z — 5 < &, answer teh following
questions.
If x € R, then the highest value of x is:

A3

B.4—

C.4

D.5

Answer: B

o View Text Solution

3. Two real numbers or two algebraic expressions related by the symbols

>, <, < or > form an inequation. If the highest power of the


https://dl.doubtnut.com/l/_1OPlcdGWQVrR
https://dl.doubtnut.com/l/_mHr1id91UQUo

variables used in the inequation is 1, then the inequation is called linear
inequation. For the linear inequation 3z — 5 < §, answer teh following
questions.
If z € W, then the smallest value of x is:

A.O

B.1

C.2

D.4

Answer: A

o View Text Solution

4.Two real numbers or two algebraic expressions related by the symbols
>, <, < or > form an inequation. If the highest power of the
variables used in the inequation is 1, then the inequation is called linear

inequation. For the linear inequation 3z — 5 < &, answer teh following


https://dl.doubtnut.com/l/_mHr1id91UQUo
https://dl.doubtnut.com/l/_oqoxxHWbP9gL

questions.

If z € R, then the solution set of x is:

1

A.{x: —oo<x<4§,x€R}
1

B.{:E: —oo§:v§4§,1:€R}
1

C.{x: —oo§:c<4§,m€R}
1

D.{w: —oo<x§4§,a:€R}

Answer: D

o View Text Solution

5. Two real numbers or two algebraic expressions related by the symbols

>, <, < or > form an inequation. If the highest power of the
variables used in the inequation is 1, then the inequation is called linear
inequation. For the linear inequation 3z — 5 < &, answer teh following
questions.

If £ € N, then the solution set of x is


https://dl.doubtnut.com/l/_oqoxxHWbP9gL
https://dl.doubtnut.com/l/_1bOfpE9CrDAl

A.{1,2,3,4,5}

B.{0,,2,3,4}

C.{1,2,3,4}

D.{0,1,2,3,4,5}

Answer: C

o View Text Solution

6. The following diagram represents the solution of two sets P and Q on

the number line:

-—00 o
-

P 76 1 2 3 4 & &6

4 3 2 1 0

—0
o

Q

e
hae
Lot
N
L8

The solution set of P in set-builder form is

A{z: —1<z<5z¢c R}

B.{x: — 1<z <5,z € R}


https://dl.doubtnut.com/l/_1bOfpE9CrDAl
https://dl.doubtnut.com/l/_CARDcL77k8X2

C{z: — 1<z <5,z € R}

D.{z: — 1<z <5,z¢€R}

Answer: B

o View Text Solution

7. The following diagram represents the solution of two sets P and Q on

the number line:

) ro)
P 5 1 2 3 4 5 &
] o
Q:‘.’ + >

e 4
%]
€2
I
o

4 3 =2 1 0

Which of the following is a replacement set of Q?

AR
B.N
C.W

D.Z


https://dl.doubtnut.com/l/_CARDcL77k8X2
https://dl.doubtnut.com/l/_ZOTZQ5yCe0yP

Answer: D

° View Text Solution

8. The following diagram represents the solution of two sets P and Q on

the number line:

— o0
P 6 1 2 3 4 5 & =
] oh
Q:: + >

s 4
(ST
oo
n
h

<4 -3 2 1 0
The solution set of Q in set builder form is:
A{r: —3<z<2z¢€R}
B.{z: —3<z<2z¢cl}
C{z: —3<x<2zeN}

D.{z: —3<z <2,z W}

Answer: B

o View Text Solution
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9. The following diagram represents the solution of two sets P and Q on

the number line:

— o0
P % T 2 5 4 5 &
] of
Q -« . >

4 3 2 1 0 1 2 5 4 5
The solution set of Q in roaster form is:

A{-2 -1,0,1}

B.{1, 2}

c{-3 -2 —-1,0,1,2}

D.{0,1,2}

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_7YBQgyeVuTfz
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10. The following diagram represents the solution of two sets P and Q on

the number line:

- o0
P 506 1 2 5 & 5 6
—_ oh
Q - . -

e 4
(ST
o2
n
h

4 3 2 1 0

Which of the following inequation has a set Q as its solution?
A2x0+9<ax+14,zecW
B.—-11<3z-2<4,xec”Z
C8—zr<4dr—-—2<6,z R

D.—42 < 6x+42< 3z +45,x € Z

Answer: B

o View Text Solution

1. In linear inequations, the set, from which the value of the variable x is

to be chosen is called the replacement set and its subset, whose
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elements satisfy given inequation, is called the solution set of the linear
inequation. Given
A={x:52 —4>6,z € R} and B={z:5— 2 > 1,z € R}.
Answer the following questions:

The solution set of A on the number line is:

—0 -5}
A 1 0 1 2 3
0 oo
B 10 1 2 3
-—30 oD
c. -to 1 2 3"
— ©
D -1 0 1 2 3
Answer: B

o View Text Solution

12.In linear inequations, the set, from which the value of the variable x is
to be chosen is called the replacement set and its subset, whose
elements satisfy given inequation, is called the solution set of the linear

inequation. Given


https://dl.doubtnut.com/l/_ejP5fZmMbdUx
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A={x:52 —4>6,z € R} and B={z:5— 2 > 1,z € R}.
Answer the following questions:

The solution set of B on the number line is:

—a0 o
= -
"

Answer: A

o View Text Solution

13.In linear inequations, the set, from which the value of the variable x is
to be chosen is called the replacement set and its subset, whose
elements satisfy given inequation, is called the solution set of the linear

inequation. Given

A={x:52 —4>6,z € R} and B={z:5—2 > 1,z € R}.


https://dl.doubtnut.com/l/_2IvHdVqnaHL1
https://dl.doubtnut.com/l/_g6IUg8xBUARs

Answer the following questions:

On the number line, A U Biis:

A < 0 1 2 3 4 5
— o
B. 10 123 45
—0 OQ‘-
C. -to 123 435
—30 oo
D -1 0 1 2 3 4 5
Answer: D

o View Text Solution

14.In linear inequations, the set, from which the value of the variable x is
to be chosen is called the replacement set and its subset, whose
elements satisfy given inequation, is called the solution set of the linear
inequation. Given
A={x:52 —4>6,z € R} and B={z:5—2 > 1,z € R}.
Answer the following questions:

On the number line, A N Bis


https://dl.doubtnut.com/l/_g6IUg8xBUARs
https://dl.doubtnut.com/l/_bs2im7PbpQvQ

Answer: C

o View Text Solution

15. In linear inequations, the set, from which the value of the variable x is
to be chosen is called the replacement set and its subset, whose
elements satisfy given inequation, is called the solution set of the linear
inequation. Given
A={x:52 —4>6,z € R} and B={z:5—2 > 1,z € R}.
Answer the following questions:

On the number line, A-B is
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B i 2 8 4 5

C 1 2 3 4 5

D. 1 2 3 4 &

Answer: B

° View Text Solution
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